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Section A: 14 marks (2 marks each)
Choose the correct answer and write its . number in the

brackets Qrowded

1 4 sevens is

(1) 7
(2) 14
(3) 28
4) 32 ( )

2 A farmer planted 30 rice plants in 5 days. He planted an
equal amount of rice plants-every day. How many rice
plants d|d he plant in.a day? :

30
1) 6
(2) 2
3) 8
(4) 4 ( )




What is the length of a spoon?

(1) 15m

(2) 15cm

(3) 150m

(4) 150 cm ( )

Peter walks from his Vho:use_ té his school ahd back to his
house every day. How far does he walk every day?

HOUSE 230 m

(1) 230cm

(2) 230m

(3) 460cm

(4) 460 m ( )

The side of a square is 2:.cm long. What'is the total length
of all the sides of 3 such squares?
2 cin

-l 3 - 2
b 3 —-

SQUARE

(1) 8cm

(2) 2em

(3) 16cm

(4) 24cm ( )



What is the mass of the durian shown below?

(1) 1kg

(2) 2kg

(3) Skg

(4) 7kg ( )

There are 4 identical batteries on the scale below. What is
the mass of one battery?

800 g

(1) 100 g

(2)200¢g

(3) 400 g )
(4) 800 g (




Section B: 14 marks (2 marks each)
Work out the following sums and -write the answers in the
‘spaces provided.

8 5+5+5+5+5isequalto

Ans:

9  Complete the number pattern below.

3, 915, __ | 27

Ans:

10 The bathroom scale below shows Jason’s. mass. His
mother is 33 kg heavier than him. How heavy is Jason's
mother? 3 '

Ans: kg




11 The picture below shows 4 identical bottles. What is the
mass of 1 such bottle?

6kg

Ans: kg

Use the picture below to answer Questions 12 and 13.

0 1 23 4 5 6 7 8 91011 1218 14 15-16°17-18 19 20

12 What is the total length of the fork and spoon?

Ans: - cm

13 How :ﬁ_uch longer is the fork than the spoon?

Ans: cm




14

Mr Tan used 40 m of cloth to make a flag on Monday.

. .On Tuesday, he used 18 m more cloth than on Monday.
'What was the total length of cloth that he-used on the two
‘days?

Ans:




Section C: 12 marks (4 marks each

Do the following sums. Show your workings and siatements

clearly.

15

Sam went to the mérket 8 times last month. He bought 2

chickens and 4 ducks every time he was there. How many
chickens and ducks did he buy last month?

He bought , | chickens and ducks last month,

16

Adoll costs $5. The toy b.ear Costs 2 times as much as the
doll. How much is the cost of 3 such toy bears?

3 toy bears cost




17 A watermelon and a papaya have a total-mass of 10 kg.
‘What is the mass_of a watermelon if the papaya is 4 kg
~ lighter than the watermelon®?

The mass of the watermelon is __ka.

i

END OF PAPER

Piease check your. work carefully.
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Section B
Q8) 25
Q9) 21
Q10) 58kg
Q11) 3kg
Q12) 20cm
Q13) 12cm
Q14) 98m

Section C
Q15)4+2=6 ‘
8x 6 =48 (Ans) _

Q16) $5x 2 = $10
$10x 3 = $3_0 (Ans)

Q17) 10kg ~ 4kg = 6kg
bkg + 2 = 3kg
3 + 4 = 7kg (Ans)
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Section A: 10 marks (2 marks each)

30

‘Date: 28 August 2013 -

Duration: 50 minutes

Choose the correct answer and write lts number in the brackets

provided.

1 Alan has $4.50. John has $2 What is the total. amount of

that they have altogether?

(1) $0.50
() $2.00
(3) $2.50

(4) $6.50

money

2 Melanie goes fo school in the morning. She leaves her home at

(1) 1am.
(2) 1p.m.
(3) 7a.m.
(4) 7 p.m.
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